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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a

map question of 3 marks from Geography. Attach both the maps in your answer book.
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Who among the following once remarked “When France sneezes, the rest of Europe
catches cold ?”

(a) Louis Philippe (b) Bismarck
(c)  Victor Emmanuel II (d) Metternich
OR

Who among the following was the author, of the most influential book ‘“The History of
the Loss of Vietnam ?

(a) Phan Boi Chau (b) Liang Qichao
(¢) Phan Chu Trinh (d) Huynh Phu So

Which one of the following is not true regarding the civil code of 1804 ?
(a) Abolition of all privileges based on birth.
(b)  Destruction of democracy in France.
(c) Establishment of equality before law.
(d) Securing right to property.
OR
Which one of the following is not true regarding Ho Chi Minh Trail ?
(a) The trail had support bases and hospitals.
(b)  The trail was used to transport men and materials from the north to the south.
() Most parts of the trail was inside Vietnam.
(

d) In some parts supplies were transported in trucks.

Which one of the following is Not true regarding the Gandhi Irwin Pact of 1931 ?
(a) Mahatma Gandhi decided to call off the Civil Disobedience Movement.

(b) Gandhiji consented to participate in a Round Table Conference.

(c) The British government agreed to release the political prisoners.
(

d) The British government agreed to grant independence.

Who among the following was the author, of the famous novel ‘Anandmath’ ?
(a) Bankim Chandra Chattopadhyay

(b) Abanindranath Tagore

(c) Natesa Sastri

(d) Rabindranath Tagore

Which one of the following minerals is largely derived from Ocean Waters ?
(a) Bromine (b) Silver (c) Platinum (d) Bauxite

In which state of India are the Khetri Copper mines situated ?
(@) Punjab (b) Jharkhand
(c) Rajasthan (d) Madhya Pradesh
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10.

11.

12.

13.

14.

Which one of the following is Not true regarding the National Jute Policy of 2005 ?
(a) Creating awareness about the use of biodegradable materials

(b) Ensuring good prices to the jute farmers

(©)

(d) Improving quality of Jute

Increasing productivity

In which year was the air transport nationalised in India ?
(@) 1951 (b) 1952 (c) 1953 (d) 1963

Which one of the following is true regarding sectional interest groups ?
(a) They promote collective rather than selective good.

(b)  Their principal concern is the betterment and well being of their members, not
society in general.

() They aim to help groups other than their own members.

(d) They do not seek to promote the interest of a perticular sector or group of society.

Which one of the following is true regarding the extraordinary popular movement that
emerged in Nepal in 2006 ?

(a) Consolidation of monarchy (b)  Abolition of democracy

(c) Restoration of democracy (d) Establishment of dictatorship

Who among the following gives recognition to political parties in India ?
(a) Speaker of Lok Sabha (b) President of India

(c) Supreme Court (d) Election Commission

Which one of the following features is not true regarding the definition of a democratic
government ?

(a) Rulers are elected by people
(b)  Elected rulers take all the major decisions
(c)  Elections offer a choice to change the current rulers

(d) Government is not limited by basic rules of the constitution and citizen’s rights.

Which one of the following is a formal source of credit ?
(a) Money lenders (b) Co-operatives

(c) Friends and relatives (d) Traders

Which one of the following is the appropriate meaning of collateral ?
(a) It is the total sum of money borrowed from banks.

(b) It is the amount of money borrowed from friends.

(c) Itis an asset of the borrower used as guarantee to a lender.

(d) It is the total amount of money invested in a business.
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16.
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19.

20.

21.

22,

23.

24.

25.

26.

27.

Which of the following organisations lays stress on Liberalisation of foreign trade and 1

foreign investment ?

(a) International Labour Organisation
(b) World Health Organisation

(c) International Monetary Fund

(d) World Trade Organisation

Which of the following day is being observed as National Consumer’s Day in India ? 1
(a) 10 December (b) 21 December
(c) 24 December (d) 25 December
“Italy had a long history of political fragmentation”. Support the statement by giving
any three points. 3x1=3
OR

“The battle against French colonial education became part of the larger battle against 3
colonialism and for the independence in Vietnams’. Justify the statement.
Explain the idea of Satyagraha. 3
“Mineral resources in India are unevenly distributed.” Support the statement with
three suitable examples. 3x1=3
Explain any three factors which influence industrial locations. 3x1=3
Explain three major challenges faced by sugar industry in India. 3x1=3
Mention three points of difference between pressure groups and political parties. =~ 3x1=3
“Democracy stands much superior to any other form of government in promoting
dignity and freedom of the individual”. Support the statement giving three suitable

: 3x1=3
points.
“Democracies lead to peaceful and harmonious life among citizens”. Support your
answer with three appropriate arguments. 3x1=3
Explain three challenges faced by modern democracies. 3x1=3
Define liberalisation. Mention two features of Liberalisation. 1+2=3
Mention any three ways which the multinational corporations use to spread their

3x1=3

production.
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28.

29.

30.

31

32.

33.

34.

35.

Note :

36.

Explain three factors that gave rise to consumer movement in India. 3x1=3
Describe the three-tire quasi-judicial set-up redressal of consumer disputes. 3x1=3

What was the main objective of the Treaty of Vienna of 1815 ? Mention any three
important features of the treaty. 1+3=4

OR
Explain the circumstances that led to division of Vietnam into North and South Vietnam.
4x1=4

“Ideas of nationalism also developed through a movement to revive Indian folklore.”
Support the statement with four examples. dx1=4

Explain four advantages of road transport in India.

4x1=4

Describe any four functions of a political party. dx1=4

Describe four features of Self Help Group (SHG). Ixl=4
x ==

Two features A and B are marked in the given political outline map of India. Identify
these features with the help of the following information and write their correct names
on the lines marked in the map :

(a) The place where Indian National Congress session was held in December 1920. x1=2
(b) The place from where ‘No tax campaign’ was started.
OR

Locate and label the following items with appropriate symbols on the same political
outline map of India :
(i)  Amritsar - The place of Jallianwala Bagh incident. 2x1=2
(i) Ahmedabad - The place where Cotton Mill Workers satyagraha was started.

The following questions are for the BLIND CANDIDATES only. In lieu of Q. No. 352x1=2

Answer the following questions.

(1) Name the place where Indian National Congress Session was held in
September 1920.

(2) At which place peasant Satyagraha was started ?

Three features (A), (B) and (C) are marked in the given political outline map of India.
Identify these features with the help of the following information and write their correct
names on the lines marked in the map. 3x1=3

(A) Oil Field

(B) Coal Mine

(C) South Terminal station of North - South Corridor
OR
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Locate and label the following items on the same political outline map of India with
appropriate symbols. 3x1=3

(i) Kandla - Sea port
(i) Noida - software technology park
(iii) Bhadravati - Iron and Steel Plant

Note : The following questions are for the BLIND CANDIDATES ONLY, in lieu of Q. No. 36.
3x1=3
(1) Name the southern most terminal station of North - South Corridor.
(2) In which state of India Talcher Coal Mines are situated.

(3) Name the in which Kandla Sea port is located.

-00o0-
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1. Trefafed # fwa e on fo, /@ wie Siear € o1 siient g9 bl 9<i-Soh™ & Sar g 1"

(a) TE forfem (b) ok
(c) faeez sHgeTa (1) d) wefHa
arerar
"3 fedt oTh T W ST fomraa ! Arves ufeg g&aes Fefataa feem foran 2
(a) M SE =S (b) feraim ferenen
(0 W (d) TEFH

2. Tr=fafed & «F Tmie diea (fafaa #1€) 1804 F < AT T € ?
a) ST o YR W yeel G Glerensii =t wwifa

(b) WG T Ishds h1 HA |

(c) EHl & TeIT THM A hl T

(d) G % AfHHR T GLar

—~

9T

B = i & Jern wrt & gy | frefafed § 9 &F 9 18 €2

(a) 39 AN W YT o7 T4 STEIATA o o |

(b) TR % §RI I ¥ Fa01 i IR AT o T Rl qREEH Bl o |
(c) W 1 ifeemien fowdn fomraam o o= Wm H o |

(d) FB 9 H YR Zohi o TEAT F Fraw o |

3. frAfafed § § & me sfeq wagian 1931 % < § ¥ Tl § 2
(a) TR e Wi STel ST sl 99| o 1 foia foRan |

(b) eI et TierHes Tre B feed o ¥ TeHd © Y |

(c) Tofes TehR Tsmfass sifeal ol @l w1 7 TR &1 T |

d) fafew @R waad e T TG TR & T |

4. ‘SAFCH3' AWE UG SUEE F G FHAfAEd § hiF € ?
(a) ifermrers SrEaTeam (b) etfergg TR
(c)  adn urE (d) sy TR

5. frafatea & 9 wF @ @i S 9 § gqgi 9 e s € 2
(a) SHA (b) fHeR (TH) () wife™ (d) TS

6. WG % Ty T § Wde! disl ol @ STafeed & ?
(a) U9 (b) TR@US (c) TS=IM (d) A Y
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10.

11.

12.

13.

14.

TR I Hfd (FeFe e diferst) 2005 & T # frfafed § o0 9@ 728 § 2
(a) S TIEHT % YA &g ekl IaT HET |

(b) N2 IAGH Tohmi o fou o7=st shimd gHfR=a e

c) SUIET &HAT S&Tl |

(
(d) S ¥ TUTHE gUR |

RA ¥ a1 IReed o1 fha ad TR fohan @ ?
(@) 1951 (b) 1952 (c) 1953 (d) 1963

ot o o fed wg & W<y § frefafed § A 9@ 82

(a) % foret @ =t o fed & ooa i fed 1 e wRar ¥ |

(b) TR FIST 2T9H WeEi % 9l d SAfd | WrIf-ord Bl €, 379 9He™ 9 T |
() TR IXTF U WS o TS TN THE % HeIdl & ¢ |

(d) e fordt T guem o1 9qe & fad 1 W T el § |

AT & ARITE S FoY 2006 & Ty § frefafad § S0 9§72
(a)  TSIAS T TR (b) ehds hi HHIE
(c) iR skl GEfeT (d) TSI S Y o

qRA § TerHIfdes <dl l fr=fafeaa § wF A ea € 2
(a) TAhEYT T (FHR) FHmafa (b)  YRA kI TegUfd
(c) Har= =™ (d) T SRR

Teh Thdieh TR o qRmn & g # Frfafea § F 9@ 78 § 2
(a) TS AT h R A WA T |
b) T TU IEE Gt HEwqul o od €

(b)
(c) TS TIERITE Ve i G i STIATT oal § |
(d) WHR Hfau™ tem T sifer % grn el @& 2§

frafafea & S o &1 st w2
(a) TRSH (b)  HEHINT (c) << T fEder (d) =i

gl HOMHR F1 Frefafed § wF w2 e € 2

(a) I% o W o T SR &1 Fa A E |

(b) ¥ SRl 9 foren T SUR ¥

(c) I8 UE Hufd ¥ ST SURSAT bl TR 4 & &9 H el foman S |
) =% forelt oamaR # frafed a1 g9 7
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

fr=fafeaa o =F e faesit saar qen faesht faw & Seieto WS e & ? 1

(a) STUSH 98 Gied (b) fova TErEes e
(c) <RI Hel i (d) fova MR We
IRd § Frefafeaa § «F a1 foa T Sude foaw & €9 § J9m@ S € 2 1

(a) 10 fewgmr (b) 21 feuer (c) 24 fewmr (d) 25 femmr

geolt § UerHifaen forged 1 Tk @on sfaed o'’ fohdl i forrgatl o g e o1 w\eA
qﬁﬁ'ql 3x1=3
r9rEr

et Sufrasht fren & faers fage, faaaam & ks <o den sufeen & fgas 3
faemer <o =1 fem o9 o |7 e & fow =retea e i |

TR & fa=ri it S ST | 3

TR | @it EreHT o1 forawor sTemm § 17 A9 e STl o gRT e 1 SHeH wifay |

3x1=3
MEifireh Srafeafd s gifad et fhl fi= el i I RIS | 3x1=3
qRA | < 3T o F T T i AT DIt | 3x1=3
ST S T Saltel Te o o= fohwal 19 o7 1 fafan | 3x1=3
" Sfort o TGAAT TaH TTRHT %1 F@Tal o H TIohd= TR oh 37 a1 9 gk & 1 ST
fagall & g1 A &1 T HifeT | 3x1=3
Treha= ST % TeTe wiifd e wgere o1 Sfed SiH § HegT R wifed g1 &' SUged Teh! % R
W H I FIT | 3x1=3
YT Skl & =gl I ATl il S HIfST | 3x1=3
SRS 1 AT SHITSTY | 3Teht Q1 TorRISet st Sre shifsy | 1+2=3
fep=gt i afehl o1 9o RifSTe foraer ATesm @ agueia Srafai 79+ Scare i far s
R 3x1=3
IRA H YU [ 3= T a1 1 Teall bl AT hifory | 3x1=3
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29.

30.

31.

32.

33.

34.

35.

36.

gt foamal o Foer o fore wenfia sieade =nfaes 751 %1 =men &I | 3x1=3

1815 o oz Hefl o g 389 1 o1 ? Hefl o o yqe fomivareti ol sagd | 1+3=4
Irrar
ferrda o S den <farof foraam o w9 ¥ faurs =t aifEufai w1 saren sifs | 4x1=4

YTz il faER YRGS @ik shenstl i gASiitod i o A | ot Heted gam 1! =R

ST & A § Fed Y HIC | b=
TR H Hgeh UREe % =R el sl e ity | 4x1=4
Teh TSI <ol o =R el sh1 F0 hifory | Ax1=4

TG FHE o =R foanedt i 9o Hifs | dx1=4

IRA & fau U asHfaes W grfes | S fasivan T eiR ot fafed € 39 fommanet = f=
Gt it TEEdl ¥ e qe 39 Te A fafed wr w fafaw | 2x1=2
(a) TM e fegwer, 1920 § YRS U HiEd i AUSA AT g o |
(b)  TF SRl & (1 T HEA) ¢ TR B TR AR g |

3reran
Rd & IH YeHfdeh @1 I W I9ga fo=gi o gr1 guitsy aen fafed wifsg |
(i)  STYTER - TIM W&l Sfcrare N SeTshive g ol |
(i) STEHSISNE ~ TIM <&l Uit HoTgl 1 TeAmIE JRE g7l |

2x1=2

: Tl v saa gftesnfua wanfefi & fog w7 ¥em 35 % 951 § | WRAl & SW AN byq =

(1) 9 WM &1 19 JAEY ST FFawR 1920 § TRATT T Hi" h A gol o |
(2) TREMl 1 FoAWE ford T 90 YRE g3 ?

IRA & qITaeh W@ gHes R G faeoamd (A), (B) @Y (C) R fau mu € | e <
SRR ki T8l 9 39 foRivareti & Jg=na 3ﬁ? qHfaa o fafed e W 39 & ™
fefey |
(A) T &
(B) hIFel @M
(C) TR SF&T0T TIeTaT <Al SfRfordd o

3T

3x1=3
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IR o I TeTfaeh 1@ AFfas W 1 1 3uged fo=dl & wreem 9 quiz qen fafed wifag |
A 3x1=3
(i) ST AR SIS aTeh
(iff)  =TeRT ARl T S st

e : fr=fafed v waw giesnfud sE & fou Fae u91 36 & o5 © | 3x1=3
(1) 9RA % W - 01 MAART h SFIvIaH g o1 A1 forgl |

(2) TR hHEe TH Ry TF | fareed € ?

(3) U TSF I AT SATST el hisell TT T Tafeerd € ?
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Question No. 35

12
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